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1. Which of the r'-"llu“iﬂt'. is mar 4 f,
acquired behavioyy - arm of

(1) Manners

(2) Traditions

(3) Customs

_A4d) Instincts

2. Insightful ]f:a.rning implics that -

(1} To learn something a person must
understand all aspects of its use

—£2) Any degree of feel for a pattern is
sufficient

(3) Both(l)and (2)
(4) None of the above

3. Which of the following does mor coincide
with idea that learning of one behaviour is

pre-requisite to the learning of another
behaviour ?

{1) We must be able to crawl before we
can walk
(2) Count before we can add
(3) Know the alphabets before we can use
the dictionary
__44) Write paragraph before we can write
sentences '
4. Which of the following is an intemal factor
influencing child's growth and development ?
{1y Hereditary
(2) Mother's family adjustment
(3) Friends

(4) Religious institution

ER-1I(M & S) m

4.

P L = | = =
s T3 ¥ faor feeom v fEw Tu
P o

() fEmesg

(2) uSugret

(3) = faws

(4) Afow famis

msTE R v ymmm 0 iy

(1) foaR femadt & a3 vz =5 &rn

(2) B9 myw ==t wfmm & a8t &
9 A= o

(3) BF (1) »3 (2)

(4) Bud=ss &9 &t a4t

eI fed faor er e sm 1=
a0 oe fa fea fesom § Ty oo
fews & vz &6t yse- &R0 0 .

(1) 7& 395 T ufost Io= 2 Ga T=
Canieain

(2) #78 T ufoet fa=st a9

(3) WEEaH € T93 gus 3 ufaw nivat
| e

(4) ¥ fouz 3 ufost Derqre fed

gd € e o3 feam § ygfes aws
T& ivgdt g d6 fen o8 faoer 31
(1) saerat

(2) W T ufses FHGRS

(3) ==

(4) uefia FFEr
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L1 | earming
also know

tonday

7. Which or the

4] Gestalt theory of learming

&

[c]

.".’_f_n':'

(4) .
=3 =3 :
{ I e R ¥+ 8
& Ox& v+ §F &

by selecting and connecting in 5, o &
e B P
R S et Ferri
i 1) firy= &t nanefer nid ansdl AT

ily 9 -

#t dftwfaa fagdst

and error theory of learming

(1) Trial (2) Thud® €
{2} Conditioning theory of learning (1) = & foadd fra's
A Cognitive theory of learning 4y Giuz & dweme o

- - i
a5 73 fe'd faor aoos PHTANT T8

6. Which of the following can mor be relaied . e "
0 simple ,W,,|r,,r, ,,,.._',tm - Bl agR & AEits ag 3 rEw O | A
(11 Shall | drive or walk 1o Witk (1) @t W &0 =t gdt ewe 7 UEs
(2} Shall | spend the evening reading a g

book ar walching a motion picture . (2) &t A arw & fa=m= U?"T:""‘" At e
Y Shall | CNCOUrAEe my son o g0 to H o fagret

college (h & H nmuz 82 § ame v mE
(4) Shall | wenr 3 black or a blye trouser Baerfas a9t

() & 7 v a7t wite oz ufgstar

following does pey represgent

7. I foey iy T Aas faux

signnl learning ? "ﬂ"'{-"-"' T a9

(1) Being anxious at the sight of an (1) feufagrs UAfTe & ou o BgE O
examination bookle = ol

(2) Being happy at the sound of loved (2) firmd & npeg HE & Wi Jar
one's voice

(3) Dog responding 10 g buzzer by (3) TTWEE'E'&HT-IHEE{FE foer 3

salivating

A9 Being ..'.ﬂ: to categorise some animals . (4) IS Fawet & B fawwt =g
as mammals H¥EU &35 2 G e

. Von RestorlTE

s !

hﬁ?ﬁn%ﬂ"@%:

&lm:“ﬁnlh:iltm is 8. 35 dircge s @ Jer & &9

HE &

(1) Boldleners 2) "Different colours ) BRewtm () s 3
A All of the above (3) 2% nhygi (4) Budaz 73

(3) lalics

—3) Both (1) and

APER-II(M & 5

9. Thinking in its usual sense js - 9. f@n@wmﬁe‘aﬂwa-
(1 Gm!uiﬂedpmb.':msufw'ng (1) 9 ams Frﬁnam-{’fﬂhn?ﬂ*a
(2) An attempt  to  work through an (2) fog w3 & U3 s

find the means 1o achieve ®93 mEt fes daee

(2) 3) T (1) m3 ()

(4) None of the i
above ﬂ (4) QUIT3 R 3 iy



1. HCI.I“TIL‘-'”-"‘"": Awareness of language

rlﬂﬂ.ﬂf'i“ i most ﬂh”dl“:n by lhc age of

aboul -

(1) 10 years (2) 14 years

(37 2 years (4) 6 years

1. which of the following is mer a positive

incentive 7
(1) Reward {2) Praise
{3) Approval _(#y Punishmemt

12. Social gkills can be taught through :

(1) Direct instruction (27 Modelling

(3) Practice i4) All of the above

13. Leamning with understanding :
(1) s quicker
‘J;Z}f' Exhibits superior rlr.ltmﬁan
(3) Both (1) and (2)
(4) None of the above

14.  Which of the following does nof represent a
gender stereotype 7
(1) Fathers drive cars and mothers tend
babies
(2) Men are physicians and women are
nurses | '
(37 Women are pilots and men cook food
(4) The boys have initiative and girls lack
ability to take decisions

15. According to Piaget, the first stage of

intellectual development is :
(1) Pre-operational stage
_(2) Sensory-motor stage
(3) Formal-operational stage
(4) Concrete-operational stage

PAPER-II(M & S)
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16. Peer culture is more powerful in defining
issues of
(1} Morality
(2) Carcer choice
(3} Religion

4} Style and socializing

17.  Which one is an Emergency motive ?
(1) Thirst
{2) Hunger
«.%) Breathing
(4) Escape

I18. A problem can be considered solved bevond

reasonable doubt when and only when -

{a) One proposed solution presents a
pattern which harmonizes all the daia
which have been obtained

There are no data which are
incompatible with that proposal I

Both (a) and (b) are true

(b}

(n
A2) Only (a) is true

(3) Only (b) is true e

(4) Nether &) nor (B)istrue

() Attentive  Deficit

Hyperactivity

(6)

17.

19.

® = yawfs s g me 0w
FIE I § Yz &3 o A9 3 §
H® e &

(b]mﬁ-rwiétae*ﬁﬁ]*?rﬁﬁnmz
& niFHa3 3

(1) (a) %3 (b) ¥F mo %
) ¥ @) e D

(3) &= (b) g Y |
(4) & (@) m3 & F (hywg D



Which
creativity 7

20, level |5 the highes;

level of

(1) Expressive creativip
(2) Inventive creativimy
{3 Innovative creativity

(4) Emergent creativiry

21. Development that stars from head

proceeds towards heel is called -
1] Cephalocaudal

(2) Proximodistal

(3) Both(1)and (2)

(4) Neither (1) nor (2)

and

22. Who propounded "Theory of Multiple
Intelligence" ?
A1) Gardner

(3} Guilford

(2) Sternberg
(4) Spearman

23.

"Select type questions” can take the form
of :

(a)
{(b) Matching items

True-false statements

(c) Essay questions

(d) Multiple choice questions
(1) (a)and (b)only
(2) (c)and (d) only

_A37 (a), (b) and (d) only
(4) (b), (c) and (d) only

24. The book named ‘The Technology of

Teaching' is authored by :
(1) B.F. Skinner
A2 Gregor Mendel X
(3) Ivan Pavlov
(4) Edward Thorndike

ER-II(M & S)
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(a) Fol-a3 o
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(c) B T ATH

(d) ¥7-32 &3 B
(1) (a) w3 (b) fiage
@) () n3 () fame
(3) (@), (b) "3 (d) firem
(#) (), (c) 3 (d) fisz
‘fo Saadt me dfdar’ aH & faas
fﬁﬂwmmﬁﬁ:
(1) = 2. Afass

(2) a5 A3

(3) fees usse

(4) W3TTS BIRSE

PT.O



35, [fa child of 10 years of chronological age
has a mental age of 8 years, what is his

.Q.7
(1) 80 (2) 03
437 100 (4} 6.40

26, A child fails t¢ write numerals and
mathematical symbols correctly, From
which type of learning disability is the child
sulfering ?

(1) Dyslexia
(3) Dysgraphia

2 Dwscaleulia

(4) Deterioration

27.  While leamning vocabulary lists, who tends
to make more errors of commission 7

(1} Impulsive children
(2) Reflective children
__ 43T Special children
{4) Toddlers

28. The sex of a child is determined by :
(1) X-chromosome contributed by the
mother
(2) Y-chromosome contributed by the
father

(3) Autosomes
(4) Society
29. Needs lying at the bottom of Maslow's
hierarchical structure of needs are
(1) Safety needs
Physiological needs
If acualisation needs

{;} ﬁ

25.

26,

28,

29,

27.

Sag TwaiE 8He € 10 7% @ BY &
st @ 8 A 3, 3t @Rer LQ. &
d 7

(1) 80 (2) 08

(3) 100 (4) 640
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35 fidl Efa__&g” E‘ﬂm 9d yHa' ¥ @3a 32, FEI W A omoay SRt amar fan &9
e (YD 31-37) : famdt et 1
» g7g3, 7 ¥93 WS, (1) @ &5 T uE A
+ 2 da feut are ?
o st € Ha1 , et 3, (3) niEd 58 4y frmmdt &
- praf FAT ©F B g : '
_ 33. fewn afe-zadt few dwe 2 fan =for
1 a grad, & FE3 = faaa nitfens 3 7
gt wret 39, 33 AvaE @ iws, (1) o=t (2) AIEH
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W
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‘achievement.

(13}
PART-IIl / -1

_—_—_‘_-—-_
¢ : Read the passage carar
I'J:::i::f:[rmm (). No |ﬁ|_'_‘1.;:‘:? Voo aip<iinl
Tenth My dawned bright ang clear, For the st
fow days, I hoad been pleasanily hL‘:iIL'l..!fdl |.;\
dignitaries and world lenders wiig were L-,"_m“!{ to
pay their respects before the inauguration, The
inguguration would be the ]urgeqt*g.nlwrmg ever of
I,IT,__=,|1_-t_|_1'+_1r1uI leaders on South African soil,
The ceremonies took place in the lovely sandstone
glj1_11r_1i[]1_g_u_t:;r formed by the 1._In'mn_ t:_._;ﬁ.,imi;_g In
pretoria. For decades this had been the seat of
white supremacy, and now it was the site of a
rainbow gathering of different colors and nations
for the mstallation of South Africa’s democratic,
non-racial government . ki
On that lovely autumn day, 1 was accompanied by
my daughter Zenani. On the podium, Mr de Klerk
was first sworn in as the second deputy president.
Then Thabo Mbeki was sworn in as the first deputy
president. When it was my turn, | pledged to :‘al:nc;f
and uphold the Constitution and to devote myself
to the well-being of the Republic and its people. To
the assembled guests and watching world, | said
Today, all of us do, by our presence here ... confer
glory and hope to newborn liberty. Out of the
experience of an extraordinary human disaster that
lasted too long, must be bon a society of which all
humanity will be peoud.
We, who were outlaws not so long ago, have today
been given the rare privilege to be host to the
nations of the world on our own soil. We thank all
of our distinguished international guests for having
come to take possession with the people of our
country of what is, after all, a common victory of
justice, for peace, for human dignily.
We have, at last, achieved our political
emancipation. We pledge ourselves to liberate all

“our people from the continuing bondage of poverty,

deprivation,  suffering, gender, and other

discrimination.

Never, never, and never again shall it be that this
beautiful land will again experience the oppression
of one by another.

The sun shall never set on so glorious a human

Let freedom reign. God bless Africal

PAPER-IIM &S) m

61. It was a celebration of South Africa's firm
BOvermmenl

(1) sutoerntic, racinl
- :
(1) democratic, non-racial
A3 democratic. rincial

(4) monarch, non -rucial

62. Why did other countdes break off
diplomatic relations with South Africa 7

(1) White rulers
(2) It is a poor country

_AF] Other countries are racial
(4) Apartheid policy

63. What change did international leaders bring

to South Africa ?

(1) end of Apartheid
427 humanity

(3) peace

(4) trade negotiations

64. "We thank all of our distinguished

international guests for having come to

take

- possession with the people of our country
of what is, after all, a common victory

for .. 00 L e

(1) justice (2) peace

(3) human dignity 47 all of the above

65. The title that best suits this extract is -
[l}. Lovely uuti._lm'n day
(@) Apanheid policy
(3) Trade negotiations
A4 Significance of freedom

66, The word cunfﬂr means ;
(1) call A2) rtevoke
(3) withhold (4) give

L P9
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&7, The expression ‘newhorm Jiberty' contans
an example of |

{1 Synecdoche
(3] Onomatopoein (4) I

{2) Personi fication

NAgETY

Passage : Read the passage carefully and answer
the quéstions {Q. No, 68-T5) :

The house — the only onc in the entire valley — sal
an the crest of a low hill. From this height, one
could see the river and the field of ripe com dotted
with the flowers that always promise

harvest. The only thing the carth peeded was @
east a shower. Throughout the

who knew his ficlds intimately -
ards the

d a pgood

downpour or at |
moming Lencho
had done nothing else but see the sky fow

north-cast

"Now we're really going to gel
woman™. The woman who was prepanng supper,

replied, "Yes, God willing®. The older boys were
working in the field, while the smmller ones were
playing near the house until the woman called ta
them all, "Come for dinner”. It was during the meal
that, just as Lencho had predicted, big drops of rain
began to fall. In the north-cast huge mountains of
clouds could be seen approaching.
The air was fresh and sweet. The man went oul for
no other reason than to have the pleasure of feeling
the rain on his body, and when he retu med, be
exclaimed, “These aren't raindrops falling from the
sky, they are new coins. The big drops are ten-cent
pleges, and the little ones are fives. 1 B
With a satisfied expression, he regarded the field of
rine corn with its flowers, draped in & curtain of
rain. But suddenly a strong wind began 1o hlow and
along with the rain very large hailstones_began to
fall. These truly did resemble new silver coins. The
boys, exposing themselves to the rain, ran out to
collect the frozen pearls.
"It's really getting bad now," exclaimed the man. "l
hope it passes quickly.” It did not pass quickly. For
an hour the hail rained on the house, the garden, the
hillside, the cornfield, on the whole valley. The
field was white as if covered with salt.
:ﬁu‘HMIMd on the trees. The corn was
3’ dﬂﬂn}'&d m ﬂﬂw:u m ﬁ'
plants, Lencha's so i gu"t om the
ul was filled with sadness,

some  waler,

PAPER-LiM & §)
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gtood in the middig

- - storm had passed, he %
“I'htr:l Il-;l"r:r:l and said 1o his son%, A plague of 1.
ol the more {han this. -Iht hail h.‘_

1:;?:3!:“ Thi will have nd com’.

o
{ was A gorrowful one.

5 }-{EF wC

"That nigh .
£ w o W ) W

nAll our work, for nothing”. "Theres no one who

can help us'.

swe'll all go hungry this year".

68. What can be assumed  about the

geographical jocation of the valley where
the house 18 located 7
{1) Iris prone io puiural disasters. T
(2) It is a remote arca with limited access

to modern amenities

L@ It is o fertile ared with a diverse range

af flera and fauna.
(4) It is a wourist hotspot with many local
attraciions.
"entire

What does the mention of the
valley" assume about the size of the area 7

69,
_F)~ The area is relatively small.
(2) The area is very large.
(3) The area is densely populated,

(4) The area is sparsely populated.

70. What is the probable reason for the man's
satisfaction while Jooking at the field of

com 7

(1) He is happy with the way the flowers
look. .

(2)He is glad 10 see the rain draping the
corn.

(3) He'is content with the ripe comn ready
for harvesting.

(4) He is pleased with the way the fiel
looks under the rain, ; Y



S 75

be o5 which of the following ASsumplions g
il ha jmplicit in the man's statement that the "hi
drops are len cent picces, and the linle Oligs
are fives" 7
(1) He has a poor understanding  of
wha currency,
{2) He is rying 1o impress athers with his
knowledge of currency,
i (3) He s experiencing a hallucination.
ity (4) He is making an analogy 1o describe

-

the size of the raindrops,

7. What competency is displayed by the
o woman when she responds to Lencho's
comment with "Yes, God willing" ?

b_,i’ﬁ Active listening

= {2) Culwral sensitivity
[ {3) Communication
' (4) Flexibility
73. How does Lenchao's attitude toward the rain
differ from the woman's 7
(1) Lencho is grateful for the rain, while
the woman is indifferent,
{(2) Lencho is hopeful for the rain, while
the woman is sceptical,
{3) Lencho is confident about the rain,
while the woman is unsure,
4) Lencho is anxious about the rain,
while the woman is calm.

74. "The field was white as if covered with
salt." The expression contains an example
of the literary device called :

(1) Simile (2) Mutgphu_r
“wf Personification (4) Allegory
75. "A plague of locusts would have left more
than this." This sentence is :
(1) Assertive mﬂtﬂffﬁﬁ"i“
. (3) Exclamatory (4) Negative
PAPER-1I{M & S) Eg

115

15 considered standard

T6. “Standarg Engligh*
because j follows
(1) rules of Eramimuy
(2) sentence construction
(3) Puncluation angd spelling
4 all of the above

TT. What is the main role of 1exibooks in
language teaching and learning 7

(1} To provide direct sen

SC experience 1o
students.

() 'I_'h:y'r-c very light and can he taken
from one place o ancther.

(3) Maintenance of proper discipline in
the class.

__F__H}"'It makes the teaching of English
systematic.

8. This is considered the best method of
teaching grammar. It involves proceeding
from observation 1o law and then from law
to observation

: (1" Inductive-deductive method
¥ (2) Informal method
{3) Reference method
(4) Traditional method
79. A student’s ability to converse and report a

situation in precise words can be tested
using :

(1) True False tests

(2) Multiple choice tests

(3) Matching tests
447 Oral Expression

80. The pharynx and larynx are organs of

speech that constitute ...............

(1) Respiratory system

{2y Phonatory system

(3) Articulatory system

(4) None of the above




&

Students who leam to speak in English are

Bl i
tatight the patterns af variations of the pitch
of the voice. Such variations constitule

............ of a language
U{H intonation st
2) phonetic transcriplon
(3) functional aphonta
{4) hypernasality
B2, There are .ieeeresonin consenant phonemes
in RP { Received Pronunciation) English.
(1) 21 (2) 22
(3) 23 (4) 24
83. In a deductive method of teaching

grammar, the teacher proceeds from :
f i} struciure o sentences
(2) words (o sentences
k37 rules to examples
(4) examples 1o rules
Which of the following expressions is
incorrect 7
(1) He is deficient in hearing.
__{-Zf He is hard of hearing.
(3) He is short of hearing.
(4) He is hard in hearing.

B4,

85, Which of the following statements defines
the sense of being glad ? )

(1) To spend time in memm:rlt when
there is no work,

33.} To spend time in merriment to keep
. body and mind fit afier doing work,

Wllm the expression mdmates oo

(167

—L——. —

o

- Ty @

§6. Arousing. Exp:ﬂﬂm:?. and  Incentiye Y
technigues arc us:ld for : a
(1) Habi formation
(2) Motivation
(1) Increasing vocabulary
_id4) Toarouse interest
87. Dictation can be u:::h :? ;h:: F;T;E:*::; g 5 E
gasure o improve w ,.
:;:ills 2 ‘ {1;\
(1) Reading (2) Speaking 5 \qﬁ
_ {37 Listening (4) Writing |
learning

88. Constructive approach to language
promotes .
() achild-centred approch
" (2) ateacher-centred approach
(3) aculture of silence
{4) classroom noise

The objective of Three Language Formula

is 10 ensure ;

(1) The promotion of Hindi as the national
language.

{27 The promotion of mother-tongue based

multilingualism in the eurriculum,

(3) The promotion one foreign
language as a third m:

(4) The promotion gl?aglmh as the

89,

connecting lan

90." Passive vocabulary means that learners :

(1) understand the meanings but cannot

use them.

(2) are clueless about the meanings of the
words,

x—(ﬁf use the words wﬁmm knnvnng their

mnnmg. A sigainy

(4) know the mﬂigi afwiwurds but
hardly. use

e velmlsad (1)

B MR
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(17)
PART-IV / grar-1v

&

|\'Erlr||.,e ==
_ o1, In a competitive examination, a total of 9. féa yFtael i W, wm 2015w
1768 students secured first dwvision in the 2016 fdw =5 1768 fefanraitnd & owe
vear 2015 and 2016, The number of first feftas omm d9 2016 e = fledftan
division students in 2016 exceeded those in ¥ fefenradhw & Bftr 2005 T 34 o
2015 by 34, How many students got first et 2015 Fe fas fefonradtott & oHe
":":."ﬂ] . 11:. division in 2015 ¥ fa<tas yuz g |
"Win ] I L
s o 1y 1867 (2) 1857 (1) 1867 (2) 1857
A3 A (3) 1855 (4) 34 (3) 1855 (4) 3
_ 92. Two tankers contain 434 liters and 465 93, & PEat ff9 SGHTE 434 Bigg w3 465
Ting liters of petrol respectively. Find the fresllegs o 2 Wadese et du T
maximum capacity of a container that can 0 AHTE & uUF warE ¥ 2F d@dna ¥
measure the petrol of both containers exact Uzas if_i fast =va Adt WU FER Q-
number of times :
(1) 21 (2) 4 (1) 21 2) 4
33 (4) 20 “3) 31 (4) 20
o =
From a circular sheet of radius 4 cm, a 93, 4 Aehftem & uR & fow @8 e T,
il circle of radius 3 cm is removed. Find the 3 Héhftes ¥ @1F (radivs) @ fEx '@
area of the remaining sheet : Terfenr gt 3| EET Hiz € HId 89 .
! (1) 50.24 cm’ (2) 28.26 cm® (1) 024  (2) 282687
(3) 785em’® (47 2198 cm’ (3) 78.5 I (4) 21.98

94. State which of the following statements are
true ?
(i) The sum of primes cannot be a prime.

(ii) Two consecutive numbers cannot be a_
prime.
(iii) The product of primes cannot be a
prime.
(iv) A number and its successor are always
co-primes.
(1) (i)and (ii) (2) (ii)and (iii)
(3) (iii) and (iv) _47" (i) only
PAPER-IIM & S)

qaxYe Lt

A

o0 f Tt Y qust Y faoz s 0 1

94,

(iy nmat @ 73 fFg wew &Y T

AaET|

(iiy € =" Aftwst nigt & T
Aaemit |

(i) nEr ¥ TEAES wEWR & T
A |

(iv) g Aftmr w3 fere €sofoad
onEr Afg-nEmrt de 951
(1) MG @) i) i)

(3) i3 v) (@) (i) frem

P.T.O
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(18) 3
If the s o 7ed § m%iaﬁﬂ*ﬁm -_
iy wn to a scale 1 : 10000. 5y A9
é #mﬁ“dﬁ is fami® a wmgﬁﬂ’lﬂ'r
B (et | g st
$ cm, what is the actual & . 1y 5 fat
(1) 5km ; ’ (2) 0.5 fa. ot
@) 054m - () 50 fa Ht
gl (4) 005 fax. Hf
(4) 0.05 km 3
i maﬁ‘sua&m&ﬁamﬂﬁgﬁ
P e i e D gt gt @ uF T
divided by 3 : 2
5 (n
WA 2 . Ll
@ 1
il e 3 g SET &
{4) None of the above ‘ (4) Budas &y
3
97. mmmabﬂokﬁwlfhﬂmﬂm 97. Tﬁ?ﬂaaﬁlzﬁwmm
day. She reads the entire book in 6 days. uuqe“raiﬁaﬁiéw
How many hours in all were required by | ‘%g@nﬁmmwﬂsﬁ%
her to read the book ? | grdte As 7
(1) 10 hours i wquﬁ DE 1% .
(2) 11 hours mﬁzﬂ? * 1 it
Lok - = |
B 103 ER < | .y .m.t%ﬁ Wi |
; 1 B
(4) 10— hours ) 4
- ‘, i né o k ( 1&2
S=a A | 8 (ks 2 |

"‘Mtﬂiﬂrﬁrlﬂminmﬁ. 98, ﬁaasamanﬁ?aﬁwfé‘hm




a e (19) [c]

b i
o4 patch Lisi-1 and List-Il and indicate youw
) answer with the help of codes given below
|' ] Lisi-1 l List-11
' g line having | Tangei L
wiit s Ve gmil
poimt (s nitdal
vl ) is called o
Q A lim biviisthing W -] Has
crcle @ only one

point is called a

—— Al - == s
" When two limes | 3 | Parallel lines
miersect the
mecting  point s
called
P | - |
5 The lines which | 4 Paint of
do noi meel are intersection
culled

(1) P-3,Q-4.R-1,82
) P-2,Q-3,R-4,5-1
| @) P-2,Q-1.R4.83
| (4) P-4,Q-2,R-3,5-1

100. What will happen to the surface area of the
cube if its edge is doubled 7
: <0 (1) The surface arca will remain the same
}O 7 -\ (21 The surfuce area will be four times the
v original surface arca
5 (3) The surface area will be doubled

(4) The surface area will be eight times
the original surface area

101.  Which of the following is mot correct 7
(1) lem’=1mL
2) 1 L=1000cm’
(3) 1 m'=1000L
44) None of the above

PAPER-1I(M & S)

99, wit-l W FE-I @ i s e T fiers
@gt @t e AT winuE F9H ¥ H

| |ae | lgen |
I P fitg mts frm fifa | 1 | FUER T
\ firse fermr wiz filg

‘\ faam

8% faor wter B _llll
Q | e s gy B | 2 \
dEn § §gOE L )
e § faor At D \
R | A& @ frm | 3 | mewtEE W
F.ﬁa‘zﬁ‘rm'ﬂﬁ.

ot fim =l fig §
faa A 2

g | fagdedt Fwet wdl | 4 st fEy
fumdtndt BT §
fa ate o

(1) P-3,Q-4,R-1,52
(2) P-2,Q-3,R4,5-1
(3) P-2,Q-1,R4,53
(4) P-4,0Q-2,R-3,5-|

100. uE ¥ FIw g9 v &t 9% 9 fewe
fasrar war I e T 1
(N H“:s'ﬁa'?feﬁfﬂafaﬁw
(2) nq*wa?mﬁmn-fﬁ'saw
979 T J=ar
3) Wﬁaﬁmaﬁwm
(4) Ag € HITE® MAE AF CEC BTy
nig & I
(01, feost &9 fao At &0 9 7
(1y 1ind =1 fifs
@) 1 f5=1000 0
(3) 1 = 1000 f&
(4) Buias e FE &t

. & Wi AP0,




64 L]

| ;I |
1 8 14 -
length and hmmﬂ of & rectangular

- |1.-:rl—:r s in 3 2 I the Mol of the field ¥
254 m°, Find the cost of fencing the ficld af
Hs B per meler
(1) Rs. 580 (2) Rs. 540
) Rs.560 (4] Rs 56

103. . Which of the following is correct 7

_¢1) The number rero s neither positive

nor negative rational number.
{2) A rational number is said o be
negative  if both  numeration and
denominator are negative
(3) A rational  number 5 said o b

positive  if either numerator or

denominator is positive
(4) Additive inverse of a raticnal number

oo ¢
L nell | R

104. The pie chart shows the marks scored in an

examination by a student in different

subjects. If the total marks obtained were
600, in which subject did the student score

(2) Science

4T Maths

(1) English
(3) Hindi

- 'I..'I i
44 al s 5'“'%
- ., i i I!ﬂ}

103.

104.

&t daErEt ni3 SE "
5 e

(1

gt g forgar AR 9 : 308
II]Hﬁ’#FHWFHTfﬂEaE GRS

3 margraa FEEHIB A

3 10

#AF nix Ter@er J) HaG g% YUS
ﬁuunﬁ,a*faf?m"wlﬁ'fﬁmﬁﬁ

(1) wigrast
(3) f3&t

@) fefamrs
() afsz

" -L*J'.r';‘ P TR
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.IJ.: HL" ; 7 14 v EET Ty 105, :1 _T_ = L ___!I‘ _1 =1 HE =
T -1 e 4 | 4 7 %
i = 2) = :
= 35 ) 'T. (2} 3
[ < =1 = 15
Gl 14 ") — 1 .
i4 7 (3 2 @) Tl
. 's mother is 3. e :
e MEE Il L years old, Twe vears 106. HHIT AR Mt M B A D1 72 T = 7
M FId oW Inother's Ty y )
froum o thers age will be 4 times O ot G v B ﬂ‘_;"? v o 4
A's prese ape
Mamia's Present age Whyy . Mamita's aE J Tt wE A fge G =t D ¢
? present age ?
?;
(1) 8§ years Q) 9 years {1y BA™® () 978
5 (3) 7 years (4) 5 vears (3) THA® (4) SAS
107.. A flooring: tile has: the. shiage of 2 107. féa e@fda evim g e mieiEs
parallelogram whose base is 24 ¢m and the g399d € mam d€r 3 fawer noe 24
corresponding height is 10 cm, How many Aehitza der 3 m2 nEeat G El 10
such tiles are required to caver g floor of Aghiteg 3 31 1080 WY H39Esm ®
area 1080 m" 7 ZIH § TAE st faat mifadtmt zfest
& 3 g 31
(1) 90000 (2) 45000 (1) 90000 (2) 45000
(3) 450 47900 (3) 450 (4) 900
108. A die is thrown. Find the probability of 108. f&a um gfenr wter 31 4 T <0 aww
getting 4 number greater than 4 : yys 95 9 Heear %2
I | P . te= 34
M = SR 1t
3 | "1.1_ hl:ﬂ‘
f
2 _j- {2] E “1-
(<) 5 .
I
| 3 7
(3} = 4
4 0
l | @ =
4) — 6
( 6

P.T.0.
PAPER-II(M & S)
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109. Find the medinn

8 412 10,6, 8 §.7
(1) 7
AZ) 6

(3) 8

(4) ¥

110, Which of the following staterments is frue 7
(1) 2.7x10%=15% 10°
(2) 2.7x 10" <1.5x 10"

B) 2.7x 10" > 1.5 x 10

{4) None of the above

111. Match List-T and List-II and indicate your

answer with the help of codes given below :

of the following data -

|" ]
List-1 List-Tl

u | Alphabet N {1 | Two lines of symmetry

v | Equilateral | 2 | Noline of symmetry

Triangle

% | Rectangle _:' 3 | One line of symmetry

Alpmhe:,ﬁ. 4

Three lines of symmetry

| ¥

(1) 3, v-4,x], y-2

TN

(2) 42, V-3, x4, y-1%p T
(3) u-2,v-1, x-4, :,"-3-3' T.—‘h
AT Yo XL, Y-y c

112. The number of faces, edges and vertices of

acylinder s ....., ... and ..... respectively.
(1) 3,00 t2) 320
3) 322 @) 324 %

(22)

109

110,

111.

g5t f3 3¢ F s (median) #%
2.0,4,12.10.6, 8, 5,7
(1 7
(2) 6
(3) 8

(4) @
as*ﬁ—c?%aﬁ?f'lreé‘r'[-‘aa-a"#arﬂ?

(1) 57 0% =1.5x10"

(2) 1?-,-1{1'?1;1_5:11]‘

(3) 2.7 = 16> 1.5 = 10°

(4) @vaaaﬁa‘ae#mﬁ‘
Eﬁ-lm%géi-u?irﬁaﬁm%ﬂa"ﬁe‘%
S=t T Haw 5% niUE AeE 98 -

Ht -1

u | wea s ||

v | madt | 2

faaa
x | nrfes | 3| g & S HERS
y | mamE | 4| mgum dor 5 EE
(1) u-3, v4, x-1,y-2

(2) u-2, v-3, x-4, y-1
(3) u-2,v-1,x-4, y-3
(4) u-2, v4, x-1, y-3

112. f&a &wz ¥ un, foatont w3 fafan

121117 o ¥ o ORI ¥ = SR 1|
(1) 3,00 (2) 32,0
(3) 3,22 (4) 324
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C]

p._||l1.tl"'"“'"lml Theorem of Arithmetic i

> that
(1) EveD number can be factorized in 1wo
wily's
(2) Eveny camposiie  number can  be
factorized in infinitely many wyys
gy Every COMPOSHE  number can be

factorized 10O prime lactors in one
and only one way ap

: art from the order
of the faciors

(4) Every prime number can he factorized
into prime 1actors in exacily two wiays

apart from the order of the fagyors

il

century

(14, The 9 Indian  Mathematician

Mahavira ZavE the formula for C, the
qumber of ways in which 7 subjects can be
chosen from & collection of » objects

[ihg
n!

in his work -
ir!
{n =

) Ganita Sara Sangraha
2) yajurveda Samhita
(3) Surya Prajnapti
iddhanta Siromani
S

who said : "Mathematics is the language
with which the God wrote the universe" 7

_427 Paul Erdos
{4) Galileo

115

(1) Euler
(3) G.H. Hardy

{16, Which of the following is not false ? :
[ mis the ratio of the circumference of a
circle to its diameter
I Euler's identity is the equality
et+1=0

(1) Only I

(2) Only Il

: land I

m of the above
%

114.

116.

wdiiEg e

c]

nots &fage § fa

L) T8 #haae :
| o Hihn 1-. T Tt

" 5T SrEEYE
@ 5 P N -

a9 Wuas fifior § noks 3w 3 ol
Tiitfarnit = ® arERdE St W e
8 -

L3 THE Aoars w5 & agat @ an 3
ey fa ft =99 &% vaw T

L A
¥e oEmds wtE

R

(4) 'T:iﬁ e RTHr F_.' e

i:ff_Fl'E." = Tatfaomt =& WETH argat
¥ qeEmis &2 & mae 31

oFt Ft 2 Fodt afes-fefordl vodle

& "C. wE Toww ffT W AR 9 n

THRIN 2 Ao 3 r foR 92 7 AR TR

= - - - 1
fa fa B2 a4 fo's _.”_I -
{n=r)r!

(1) @& Fa Aay

(2) Gugse Afo=r

(3) FAIw yfamufs

4y frots frel

farz fa . ‘ofE= B9 T Q@ TR &%
yHEH & gfate § et 1

(1) @59 (2) U EISH

3y . ve, TS (@) IHEE

5 fafunt 3 fagz a3 &1 7
I nfog 98 ¢ ud w3 feme foorm
T niEuE 2
I GES e UEE AHES Y
Frl=0

(1) =&l

(2) awsll

3) Im3UT

(4) BuIas feF & AT

P.T.0
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1.
cwork (NCF-2005), the main goal

ol
F ram

mMathematics Education in schools 18

(1) That Mathematics must not be an
important subject of study

(2) To build abilities of mathematician in
students.

(31 Development of mathematical thinking.

{4y Boath (2) and (3]

Informal creative evaluation in Mathematics

118.

includes assessing :
(1) Mathematical communication
{2} Creativity in Mathematics

and

{3) Disposition attitude  towards

Mathematics

= {4) All of the above

119. National Mathematics Day is celebrated
every year in India on 22nd December to
mark the birth anniversary of which

legendary Indian Mathematician ?
(1) Aryabhara
__42) Sninivasa Ramanujan
(3) Shakuntala Devi
{4) Bhaskara Il

What
Taxonomy ? .
(1) Spiritual, mental and physical
(2) Spiritual, affective and cognitive
(3 Cognitive, affective and physical
%) Cogntive,affecive and psychomotor

are three domains of Bloom's

120.

(24)

117.

115,

119.

120.

ey (NCF-2005) § fe
= urEH da‘“"‘f“r : i
dll’-{;d: e fia e 4t frfunr @
naAd, Fg
g Jrgeyds e
(1) fa @S m;u:ﬁ % e
&t = g
(2 fefamiradinf feg ‘:?"
St e U J98 '
(3) afefsa A8 & L deial
@ #2323 \2
oy fg g It FETEHE ysaE 99
< fisfbmi @1 NGHE San! AHE 9
(1) afefza RO
Il

(4) BuIag A9

Izt afss feen g93 €9 98 78 22
msmmmmé
an fow § e sEt e A 3 7

(1) mdmrEe

(2) Hifasw IHETs

(3) He3® o=

(4) =FHEE

¥BH ¥ T9deeEs ¢ s 3Hs o 95 ¢

(1) rftmpsfim, Wwafaa w3 rdtea
(2) niftmisfia, Fes3Ha w3 §aHE
(3) EUSHE, FREIHA W3 Hdad
(4) BUEHR, FEEIH W HELR
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15y o #ls [
ié L“'q_'-.rnrjuchur

1il water is -

i

i . . 2) Iusulumr
di3) Semi<conductor (44 o

-'-mlm-ina.ulntm

s | % which gas is likely (5 be regd 3
1= mosphere by dcl"urc,;m"-u” " voe i the
i1y Carbon dioxide
THTAL i
(2} Mitrogen
| fo t‘!lx_\'E_l,Erl
S (41 Sulphur dioxide

The term used for o) W
soil is known is

{1) Holard
(i) Echard

ler content of the

A2y Chraserd
1“} qu‘::”

| The boundaries of | .
gR4, S O earth tectonic plates are
called :

(1) Fault zone- Seismic zon,e

(2) Fault zone- Inner Core

(3) Seismic zone- lnner Core
i Mantle- Seismic zone

= | 125. Tsunami 15 mer caused by :
-..: (1) Earthquake
(2) Nuclear explosion under the seq
(1) Volcanic eruption
4) Lightming

1236, Which of the following is true ?

(1) A charged glass rod must attract a
charged plastic straw,

' (2) The lightning conductor is incapable of

‘ protecting a building from lightning.
When a glass rod is rubbed with silk
cloth, the cloth gets positively charged.

| (4) A copper rod can be easily charged by
-+ friction.

PAPER-1I(M & S)

l:ilﬁl F:ﬁ @

120. fonfem soa® .
i1y O=a
(3) niO-ares

(2) g
(4) WEAT-FEE
122, "It & et am eplee e faod
H P weE o duren 3 Y
(1) Iams FErares
(2) FeEtdas
(1) wrERvs
(4) ASET FEOHES

123, it 2 a's udt & e w6 =iy
A= g mEe fen 3= arfeer wer D

(1) ===z (2) aFEs
(3) Hlaras (4) UHIS
124, Tgdt dnif 2adina uBet Emit HiW=' §
farar Fter o -
(1) 82 559 75
(2) =Tme Sn-vegnl ad
(3) AmRfHa gs-nEgsT 389
(4) Wemgas HE8

125, mEndt fegst ares &d7 de ¢
(1} o5
(2) AHEdE ¥ US' UIHE O
(3) FEE geE
(4) fawst

126. It fo3 o faomn S 3 7
(1) féfa oravwe ¥R © 98 § e oavs
ywAfea 3t § wraafe gEw

mm_
(2) forrelt & dsaes fan fewas §
fawet 3 g9 fo's nonEE )

() 7@ W ¢ 3B § WA B FH
gafanr J ¥, St JUF AEEEHE
39 '3 wed d A 3
(4) fé 3t @ 3 § T & A T
graw &g 7 e
P.T.0.



127. Choose the wipihyy staternent |

(1) Heat can destroy magnetic properties

of a magnet.

{2) Magners A made up of different
materials and difTerent shapes.

is a minimum artraction 0

(3} There

middie of 8 magnet.

_g}-'mmne does  not
properties.

128. Which of faod constituent is needed in
maximum amount in daily dier?

{1) Carbohydrafes {2) Protein

show magnetic

() Vimmins 4] Water
129, Oxalic acid is present in

(1) Spinach (2) Onion

(3} Banana {4) Carrot

130. What is mor correct about "ElNino' ?

(1) It is a climatic patern

(2) It has strong effect on marine H{E‘z =
fa ]

(7 It leads to drier conditions sl

128.

119.

130,

| I
a-g I”'
o 7t 9! o3 P
Wf*‘- 2
RS T L
3 ;g:gfa%fﬂ
(4 Wé‘ﬂﬁﬂfﬁw*
e WTH o 3 L HEE fes 133
aﬁ%faﬁﬂ-&ﬁiﬂé’fﬂ
() gragoretesen (2)
(3) fezfimA (4) '
mﬁﬁﬁﬂﬁfﬂif&ﬂﬁ'ﬁ’ﬂﬂ?? “ B
(1) uma 2y furir ‘
(3) an (4) IS .

mmﬁﬂ"ﬁaﬂmﬁmﬁ'a'?

{I]ii'aﬁ!amqﬁma e -

;@;}MQWMQ.WM'
N :_..F

S ey 48

=1 " ¥




) ¢

wll‘“hm" V) 2 AN pliggygy \ %)
e gy
[} L il
K 1} H""]im_ tn C
TR l”‘\'k'l\.l 3. g A
Heas Worous A): TR OR weRifen wit g
5 Pl ¢
Ynthesizg i I canngy i
y :
m pgoth A and R are filq Wi Toad AR (R et OF weud dam o
-

-'.-' H;ﬂh A and R Huaspe =Y == e

- f : -
but I8 not the (1) And pa® g am)
of A S

=1 A is lalse b -
(3) iR is trye

i 3

r-imi“-_:&‘n‘rjﬁhm“hgnﬁ

- b fenrfipne =3¢ 8
A is true buy
i""‘ u H. 15 rnlg.,,,:_ 1'|.| A '.‘IT:T-S :.‘l ug R e 3!|
. [ 5 s
Mu[.;h the l‘nllnu,,'ug “”Umnh . 4) A RS Y ug j =3 B
& Column-1 ' ; 133, T PO memdt o e Bl
| - d ¥ F C"‘“mn." !
i, |mpaire '-'*-"HIHD\ Vit -1 arEH-11
i AN ; Hamin B Z .
i hndahmrknr\ P, Vieii e . aHEe e a. feefus &
#i o ..-\",. K s = -
I i ch]ﬂl:. Bl % .\H o rhiunu 19 E’E:ﬂﬂﬁ'ﬂ?ﬂ b. rz_d‘ﬁ-ﬁ'i ol
_| iv. Beri-Beri— \d Y n i, dtfEiE ¢. fowfys
. cin it 2 -
| (1) i-d, v-a, fii-g, jv-h iv, EI-EL d UdHs
(2) i-b, ii-c, iii-d, iv-a (1) i-d, ii-a, iii-c, iv-b
T (2) i-b, ii-g, iii-d, iv-a
-\/t’-‘{ i-b, ii-d, ili-a, iv-c i gk
i harlime T (3) i-b, ii-d, iii-a, iv-c
(4) i, ii-d, iii-a, iv-h

(4) i<, ii-d, iii-a, iv-b
(34, Ozone layer is present in -

134. 6m uss fon 9 e O
@y Troposphere (1) mfesdzs (2) E9NES
(¥ Stratosphere  (4) Mesosphere (3) MEWHES | (4) HIEE

(1) lonosphere

35, Nylon, a fully synthetic fiber is made up of : 135, wEtSs, fFa ud 3§t fidfea edfms =
afenr g7 3 ¢
A7 Carbon, Hydrogen, Nitrogen and (1) J98s, TEIEE, AEeHs M3
Oxygen WIEHIAE :
(2) Carbon, Hydrogen, Chlorine and () a@Es, TEEAs, a5ds M3
Oxygen WS .. :
(3) Carbon, Hydrogen, Chlorine and (3) o9Es, TEENS, T

! wERHS
Nitrogen | 3
d (4) T9EE, WMOHAS, TEIO
(4) Carbon,  Oxygen, Chlorine  an .
Nitrogen eI

m r P.T.C
PER-1I(M & S) b




.
(28) e | o
136. Wﬂﬁ g’ |
136. Rubber is-made by : () gﬁ'Fﬂ'I'::_m_. -Wd_r
{11 Caleification 2) ;-Ln_;a'a'rE'IT:IT-l'f’; =
(2) Vulcanization (3) i g
(3) Molding 4) fHaHE !
{4) Extrusion " ol E‘ft['a‘ﬁ‘lﬁ ‘
x g &9 fra-mtenrg= # |
137. Which group consists of non-renewable 137. e FF‘P-IF a5 7
organic resources 7 o T o2 wfsH ;
(1) Water, Air and Minerals 4 = . 3% w3 T
w21 Natural gas, Oil and Coal {: }:5'3‘3 wrdt w3 e g’a‘HT"J"
(1) Wood, Water and Natural pastures ::: m:’r e W UTHTE ==

i4) Soil. Air and Nuclear elements
Fo-ug % HEE J |

138. Lion-tailed Macague is : 138. Ll s 1
(1) Endangered {2} Extinct »-1“ EFFi e i
{3} Vulnerable {4} Common (3) aHd= :
3 woas O

139. Law of Conservation of Momentum is

based on : !
‘ : fawH
(1) Newton's first law of motion (1) faBes & ardt = ufo®

.’ﬂj Newton's second law of motion 2) W?@_?h e adt & =i

(3) Fﬁﬂ?zﬁ?m’r?é’m*ﬁﬁw
Gusaz fed’ &t adl

{3) Newton's third law of motion
(4) None of the above (4)

140, SfTarss ast @ Fdt g faos 97

140. Which is the carrect order of frictional

forces 7
(M Rolling friction < Sliding friction < (1) Sfan sfosrs < AerElfdar sfaans
Static friction < Aitg gfears
(2) Rolling friction'> Stiding friction’> (2 3Ma =feams > reEifdar afeams
Static friction > wfag gfoams
(3) Sliding friction > Static friction > (3) meEtfsa efoens > mfas sfoans
Rolling friction > 3féq Bfgams
(4) Static friction < Sliding friction < (4) Afag sfoams < Aedifsa =foans
! Rolling friction < 3ffar efgams '
141, Microorganisms that causes disease are al 5 g
known as : i 2 lﬁ;r TR W Fﬁ!‘“& g
(1) Pathogens  (2) Carriers .
(1) Tamma (2) T
@7 Anti ( )
gen  (4(4) Microbes (3) Wem (4) Tamz

APER-1I(M & 5) E‘E
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144,

which ¥pes of testy
reliability 7

Possess  |owest

(1} Standardized ohjecive lests
(2 Standardized subjective esy
Fi

{3 Non - Standard ized ohjective 1ea1s

i “

i

(4} Non -*-rllll‘l{l.l'!rillf:cd “ll"'_l‘ift.'ll\'c lests

143, Which af the follow ng is por frue
acietitific knowledge ?

bt

(1) Scientific knowledge iy absolute and
eternal

A7 Scientific knowledge is culturally and
socially embedded

(3) Scientific knowledge develops by
imagination and ereativity

(4] Scientific knowledge is theory laden

What is a rubric 7

(1) an assessment that provides u weighted
grade
__,*'PH A grid that assesses physical behaviors
based on different terms und weights

(3) & tool 1o assess written work

(4) atool that assesses smdent work based
on specific _expectations ‘aligned 16
descriptive criteria :

145. Cognitive validity of a science curriculum
is best explained if :

(1) It is loaded with Higher Order
cognitive tasks

(2) It is Age appropriate

(3) It conveys
information

-}i).,i‘t engages students to generate and
validate scientific knowledge

correct  seientific

PER-IM & S)

142,

143,

144,

145.

&

ﬁf?’ﬁ'ﬂ{??ﬂ?ﬂ!?ﬂfl’ﬁlﬁﬁm

dHE 7% 9
(1) et ergars ifumest

(2) Bt fonardhuma et

(3) Fafort srzam e

(4) Iu-fonrdt fenmrahras fifiwrer
Flomrsa famrs 3. 35 fefir g
fargar wa = & 9

(1) Fefemraa famrs yom w3 w3

(2) fefamras s Afeoraoe w3
mifia T ' Ews g D

(1) Gfmrsa s & fearm asus
w3 dUAEHET oo e 3

(4) fefamrss fimrs frots =& sfor
far B

gufaa &t 91

() g yutax & ffg o9 = 33
YFTE daer o

(2) fFa oife's A Fu-du fomut ni2 st
2 wore '3 3w feoet o voam
E e |

(3) forrst @y v yeteR w9 w9 fEm
et

(@) Fa fodt 7 fofinrafim wnudet
&5 Tt e Sitet # o '3
2 & T heEE wae Y

Rfams 2 usay & foranm 2o St A
T Fator fenrfiar St vt 3 3am -

() fer €% g4 Guava oot &®
o Jfemr Y

(2) feu Ba 2 nimam 3

() fem it fefammag. geardt yes
FawT

(4) feu fefomradtor & fefamrsa firs

age Ll




146. Match the following

i Diagnoshc a  performed  duning
pscasment the learming proccss
Hl Critgrina-referonced b hased on relative
aszramenl performance in @
jroup
i Formative ¢ hased n
axsessmen predetermined
stanclard

performed  belore

iv Nonm Heferenced d
sart of a new

Assgimeinl the

lemrmiing
i-a, ii-o, iii=d, iv-b
(2) e, iid, ifi-b, iv-a
T} i-d, ji-g, iii-a iv-b
{4) i-a, fi=b, iii-d, iv-c

(1)

What is a testable explanation for a natural

147.
phenomenon ?
(1) Hypothesis  (2) Theory
(3} Law {4) Observation

(30)

LC]

- o & ad
146, 9% fed Fﬂj’ , e ot yfatane
HE ﬂEl_] dﬂ " ﬁ_!a-- H'.I-F fifa
i HA ra-ﬁ-gﬂ_l._l?m
i 3 wrE 3
=S W-Wﬂ'
T . L ’ 3
L]
g fEa sl fﬂd?“E'T
" Hl"'H- = " E‘ﬂ'ﬂf‘_{ ..?
W ; gt et

i-a. ii=c, ili-d, iv-b

()
(2) i, ii-d, iii-b, iv-a
(3) i-d, ii-c, iii-a, iv-b

i-a, li-b, iii-d, iv-€

(4)
47, fPx gevdt wowe wE 6@ AgEd

fenrfimr &t 07

(1) aTwu (2) fAo3

(3) a&a (4) fadtu=

s femmiz Bafea fodt 7 Sy feord

148. A visual leaming tool that shows relationship 148. 3
between different ideas is : fewara miu & wenge 3 ¢
(1) VennChart (33 Concept Map (1) 35992 (2) FosU AEE
(3) Piediagram  (4) Decision tree (3) uet fa'ga | (4) feozfem oo
149, Which of the following is mot  feature of 149, feost fo's faoz fefors & feRmzr
Science ? FOTY 7
(1) Empirical verifiability (1) niast ynuisga
(2) Judgement (2) ey
(3) Malleability (3) mEtsus
W) Replicability
) g
150. mmmwmmmh 150. s miftmma yde mum@er 3
! mtl.ll. =4 - = ]
(1) Tabula Rasa ?{?@mﬁhwma
| g’} g ) dfive site
- "'ﬁ{ Problem solver s
: (4) "fAnr o a9s o
gl F% =
K



